

PCN	08P3		
Project No	P 6403(10)	County	Pennington
Type of Work	Grading, Drainage, Base Course, Asphalt Concrete Surfacing		Contract Amt
Contractor	LOISEAU CONSTRUCTION, INC.		\$23,381,920.13

The following change in plans and/or specifications for the subject project is hereby made:

Asphalt for Tack

Instruction: The Contractor will apply tack to the bottom lift of asphalt surfacing at a higher rate than the plan as directed by the Engineer.

Reason: The bottom lift of asphalt moved and shoved during paving operations because the base course was not required to be primed and the lift thickness was only 2". This moving and shoving created minor cracking in the bottom lift of asphalt. In an effort to seal the cracks, the tack rate was increased.

Line No. 033 P SS-1h or CSS-1h Asphalt for Tack 5.500 @ 1,010.100 / Ton

Asphalt Paving

Instruction: The below items will be adjusted from plan quantity to as-built quantity.

Reason: The quantity of the below items was less than what was estimated in the plans to construct the surfacing to the specified thickness and width as detailed in the typical sections.

Line No. 030 P PG 64-28 Asphalt Binder -36.400 @ 984.380 / Ton
Line No. 031 P Class E Asphalt Concrete -99.800 @ 71.930 / Ton

Base Course

Instruction: The Contractor will place the plans quantity of base course on the roadway in accordance with the typical sections. After the plans quantity has been placed, the Engineer will direct the placement of additional material.

Reason: After base course laydown operations began, it became apparent that the plans quantity was insufficient to get the full 12" of base course. Because the cost overrun would have been large if all 12" of base course was placed, it was decided to only overrun the plans quantity enough to get 10" of base course placed. The surfacing will function as intended with 10" of base course due to the low traffic and truck volume this road sees.

Line No. 112 P Base Course, Modified 1,656.500 @ 34.500 / Ton

Erosion Control

Instruction: The below items will be adjusted from plan quantity to as-built quantity.

Reason: The items below were utilized as necessary throughout the project in order to comply with the SWPPP.

Line No. 011 P Remove Sediment -86.700 @ 50.000 / CuYd
Line No. 085 P 12" Diameter Erosion Control Wattle -18,862.000 @ 6.300 / Ft
Line No. 086 P Remove and Reset Erosion Control Wattle -5,603.000 @ 3.150 / Ft
Line No. 089 P Shaping for Erosion Control Blanket -450.000 @ 2.100 / Ft
Line No. 091 P Mucking Silt Fence -1,560.000 @ 2.100 / CuYd
Line No. 092 P Repair Silt Fence -5,610.000 @ 1.050 / Ft

PCN	08P3		
Project No	P 6403(10)	County	Pennington
Type of Work	Grading, Drainage, Base Course, Asphalt Concrete Surfacing		Contract Amt
Contractor	LOISEAU CONSTRUCTION, INC.		\$23,381,920.13

Minor Deviations

Instruction: The below items will be adjusted from plan quantity to as-built quantity.

Reason: The below items will be adjusted from plan quantity to as-built quantity and should be considered minor deviations in project quantity.

Line No. 062 P	Type 3 Right-of-Way Fence	-231.000 @ 6.040 / Ft
Line No. 079 P	Cover Crop Seeding	-1.000 @ 157.500 / Bu
Line No. 084 P	Type 1 Erosion Control Blanket	-22.500 @ 4.200 / SqYd
Line No. 103 P	Water for Dust Control	1.600 @ 25.000 / MGal

Mulching

Instruction: The below items will be adjusted as shown.

Reason: CCO#6 added an estimated quantity of fiber mulch in order to mulch slopes that are not traversable with farming equipment and small areas not accessible with farming equipment. This CCO adjusts the estimated quantity to the actual quantity utilized on the project to fiber mulch areas inaccessible with straw mulch.

Line No. 082 P	Mulching	-26.800 @ 420.000 / Ton
Line No. 107 P	Fiber Mulching	13.400 @ 2,885.000 / Ton

Pilot Car

Instruction: The below item will be adjusted from plan quantity to as-built quantity.

Reason: Less hours were required then estimated in order to convey traffic through the work zones for the duration of the project.

Line No. 071 P	Pilot Car	-241.500 @ 43.870 / Hour
----------------	-----------	--------------------------

Refurbish Mailbox

Instruction: The Contractor will refurbish all of the mailbox's along the project.

Reason: There were additional mailboxes along the project that were not identified in the plans that needed to be refurbished.

Line No. 094 P	Refurbish Single Mailbox	4.000 @ 236.250 / Each
----------------	--------------------------	------------------------

PCN	08P3		
Project No	P 6403(10)	County	Pennington
Type of Work	Grading, Drainage, Base Course, Asphalt Concrete Surfacing		Contract Amt
Contractor	LOISEAU CONSTRUCTION, INC.		\$23,381,920.13

ROW Fencing

Instruction: The below items will be adjusted as shown.

Reason: The below items are being adjusted to the quantity utilized to construct the ROW fence according to how the Forest Service wanted their fence built on their parcels, what was required per ROW agreements with landowners, and fitting actual field conditions.

Line No. 060 P	Type 1 Right-of-Way Fence	-6,404.000 @ 4.990 / Ft
Line No. 061 P	Type 2 Right-of-Way Fence	4,733.000 @ 5.520 / Ft
Line No. 063 P	Modified Type 6 Right-of-Way Fence	703.000 @ 7.350 / Ft
Line No. 064 P	2 Post Panel	14.000 @ 472.500 / Each

Seeding

Instruction: The below items will be adjusted from plan quantity to as-built quantity.

Reason: The quantity of the below items are adjusted to the actual quantity utilized on the project to seed, fertilize, and mulch the disturbed area within the project limits.

Line No. 080 P	Type E Permanent Seed Mixture	172.000 @ 38.850 / Lb
Line No. 081 P	Fertilizing	-29.750 @ 1,207.500 / Ton
Line No. 082 P	Mulching	-36.000 @ 420.000 / Ton

Shot Rock

Instruction: The below item will be adjusted from plan quantity to as-built quantity.

Reason: Less quantity was required to construct the shot rock sections as detailed in the typical sections than what was estimated in the plans.

Line No. 098 P	Shot Rock	-5,348.670 @ 49.500 / Ton
----------------	-----------	---------------------------

Type 3 Blanket

Instruction: The Contractor will install Type 3 erosion control blanket as directed by the Engineer.

Reason: CCO#14 added Type 3 blanket with an estimated quantity of how much blanket would be needed to stabilize areas. This CCO adjusts the estimated quantity to the actual quantity utilized on the project to stabilize areas and comply with the SWPPP.

Line No. 125 P	Type 3 Erosion Control Blanket	6,657.400 @ 5.360 / SqYd
----------------	--------------------------------	--------------------------

Water for Embankment

Instruction: The below item will be adjusted from plan quantity to as-built quantity.

Reason: The excavated material had sufficient moisture in it such that water was not needed to get the material to specified moisture content.

Line No. 018 P	Water for Embankment	-1,240.400 @ 25.000 / MGal
----------------	----------------------	----------------------------

PCN 08P3
 Project No P 6403(10) County Pennington Contract Amt \$23,381,920.13
 Type of Work Grading, Drainage, Base Course, Asphalt Concrete Surfacing
 Contractor LOISEAU CONSTRUCTION, INC.

Water for Granular

Instruction: The below item will be adjusted from plan quantity to as-built quantity.

Reason: Less water was required then estimated in order to achieve specified moisture content in the granular material used on the project.

Line No. 019 P Water for Granular Material**-1,692.900 @ 25.000 / MGal**

Line No	Std Bid Item No	Item Description	Qty As Now Ordered	Current Change in Qty	Unit Price	Unit	Current Change in Amt
011P	110E1690	Remove Sediment	0.000	(86.700)	50.000	CuYd	-4,335.00
018P	120E6100	Water for Embankment	9.600	(1,240.400)	25.000	MGal	-31,010.00
019P	120E6200	Water for Granular Material	3,767.100	(1,692.900)	25.000	MGal	-42,322.50
030P	320E0007	PG 64-28 Asphalt Binder	1,927.600	(36.400)	984.380	Ton	-35,831.43
031P	320E1050	Class E Asphalt Concrete	37,206.200	(99.800)	71.930	Ton	-7,178.61
033P	330E0100	SS-1h or CSS-1h Asphalt for Tack	60.500	5.500	1,010.100	Ton	5,555.55
060P	620E0010	Type 1 Right-of-Way Fence	9,605.000	(6,404.000)	4.990	Ft	-31,955.96
061P	620E0020	Type 2 Right-of-Way Fence	32,941.000	4,733.000	5.520	Ft	26,126.16
062P	620E0030	Type 3 Right-of-Way Fence	2,749.000	(231.000)	6.040	Ft	-1,395.24
063P	620E0260	Modified Type 6 Right-of-Way Fence	1,819.000	703.000	7.350	Ft	5,167.05
064P	620E1020	2 Post Panel	166.000	14.000	472.500	Each	6,615.00
071P	634E0020	Pilot Car	1,438.500	(241.500)	43.870	Hour	-10,594.61
079P	730E0100	Cover Crop Seeding	28.700	(1.000)	157.500	Bu	-157.50
080P	730E0208	Type E Permanent Seed Mixture	1,360.000	172.000	38.850	Lb	6,682.20
081P	731E0200	Fertilizing	29.650	(29.750)	1,207.500	Ton	-35,923.13
082P	732E0100	Mulching	115.400	(36.000)	420.000	Ton	-15,120.00
082P	732E0100	Mulching	115.400	(26.800)	420.000	Ton	-11,256.00
084P	734E0101	Type 1 Erosion Control Blanket	16,077.500	(22.500)	4.200	SqYd	-94.50
085P	734E0154	12" Diameter Erosion Control Wattle	8,952.000	(18,862.000)	6.300	Ft	-118,830.60
086P	734E0165	Remove and Reset Erosion Control Wattle	1,319.000	(5,603.000)	3.150	Ft	-17,649.45
089P	734E0510	Shaping for Erosion Control Blanket	0.000	(450.000)	2.100	Ft	-945.00
091P	734E0610	Mucking Silt Fence	0.000	(1,560.000)	2.100	CuYd	-3,276.00
092P	734E0620	Repair Silt Fence	0.000	(5,610.000)	1.050	Ft	-5,890.50
094P	900E0010	Refurbish Single Mailbox	21.000	4.000	236.250	Each	945.00
098P	260E5000	Shot Rock	11,774.500	(5,348.670)	49.500	Ton	-264,759.17
103P	120E6000	Water for Dust Control	7,111.800	1.600	25.000	MGal	40.00
107P	732E0200	Fiber Mulching	18.400	13.400	2,885.000	Ton	38,659.00
112P	260E1060	Base Course, Modified	95,520.700	1,656.500	34.500	Ton	57,149.25
125P	734E0103	Type 3 Erosion Control Blanket	16,657.400	6,657.400	5.360	SqYd	35,683.66

South Dakota Department of Transportation
Construction Change Order No 15

PCN 08P3

Project No P 6403(10)

County Pennington

Contract Amt \$23,381,920.13

Type of Work Grading, Drainage, Base Course, Asphalt Concrete Surfacing

Contractor LOISEAU CONSTRUCTION, INC.

Increase This Order	\$182,622.87
Decrease This Order	(\$638,525.17)
Net Change This Order	(\$455,902.30)
Net Change To Date	(\$30,999.82)

All standard specifications apply unless otherwise noted.

Additional substantial calendar days:

Additional field work calendar days:

Additional substantial working days:

Additional field work working days:

New substantial completion date:

New field work completion date:

The net change due to this CCO is a decrease of \$455,902.30

RECEIVED

NOV 10 2025

RC REGION OFFICE

Prepared by John Gerlach

Date 10/14/2025

Contractor Acceptance

Rapid City Area Engineer Approval

The changes contained in this construction change order are made in accordance with the provisions of the contract for subject project and when accepted by the Contractor and upon approval by the South Dakota Department of Transportation shall become a part of said contract.

On 11-6-25

By [Signature]

Title Contract Manager - Loiseau Const

On October 20, 2025

By [Signature]

County Approval

On 11/17/2025

By [Signature]